COMP36512 Compilers Rizos Sakellariou

Comments Q1: Not a popular question, answered by about 20% of the students. Some good solutions in part (b) but other

solutions did not do it. No particular issues.

Q2: A popular question answered by almost all students. Generally very good marks, it suggests that some of the
questions were easier than anticipated. Some minor issues with (d) and (e) related to the definition of a floating point
number.

Q3: A popular question. Some problems with the elimination of recursion in (a)(iii), good answers in a(ii) and (b).

Q4: Answered by about 40% of the students. Several problems with (b), it is always important to remember that any
transformation cannot change the meaning of the program.

Q5: A popular question. Answers generally good, the explanations in parts (a)(ii) and (b) could have been better in
many cases
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